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Instructions for Candidates

I

Write your Roll No. on the top immediatelé@n receipt of this question paper.

2. The paper is divided in three sections ﬁgé’& C all questions from each section

should be attempted together. Q
Q

3. All questions are compulsory. é%’

4.  Answers may be written either@nglish or in Hindi; but the same medium should
be used throughout the pap@'
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SECTION - A (WUs &)
[. (a) Describe the circular flows of money in a three sector economy. (5)
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(5} Show how the nominal supply of money depends upon the supply of high

powered money, the currency deposit ratio and the reserve ratio. (10)
OR

{a) How is equilibrium determined in the financial markets in the classical

framework 7 (5)

(b) Explain the Baumol — Tobin transactions demand for money. {10)
(31) Faehr srforaen ¥ #iftw a! § aaia warr ot awEn SR |

(@) =utd f for wame & Wi W 1 (Nominal money supply) High Powered
money, ##1 W FAIF ( Currency deposit ratio) v@ R s ¥ Fuifa i
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2. {a) What is the impact df'Autonomous Spending on the level of rate of interest
(r) and levei of Income (Y)? (10}

(b) How can “Crowding Out” be * accommodated’ ? (5
OR

{a) Examine the effectiveness of monetary and fiscal policy in the following

cases :
{) The Liquidity Trap

{(11) The Classical Case (10)



www.FirstRanker.com

8203 3

{b) Distinguish between the Keynesian and the Classical Aggregate Supply
Curves. (3)

(&) ‘w@ma =@’ (Autonomous spending) 1 SIS & TR UF 3 & TR W T ¥HE

g7
(@) “FeRm agT” ' fFa wer ¥ “@mfza” (Accommodate) famar r wewm 2 7

HAdr
(3} Frer feafodl 3 Mz va Toi AR 0 e 2 fln A -
(i} e s
(i) wenfireer Refiy
(q) o= @ (Aggregate) I aw wd aﬂﬂi@m I A =R F R
Ffg | CJO
@{/.
SECTION —g‘k(zavg @)
QO
3. Given the following information : ?O\f
| &
Consumption .é C=200+075Yd
Taxes ,é : TA =200
investment 'S 1 =200-25i
Government Expenditure G =200
Demand for Money : L =0.5Y - 501
Nominal Money Supply M =900
Price Level : P=3

(a) Determine equilibrium income and the rate of interest.

(b) If Govt. expenditure is increased by 150, determine :
(i) The change in the level of income

(i) The shift in the IS curve

PTO.
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(c) [If the increase in Govt. expenditure is accompanied by an increase in taxes

by 150, what is the change in the level of income ?

Given the following information :

Consumption

Taxes

Transfer Payments
Investment

Government Expenditure
Demand for Money
Nominal Money Supply

Price Level

(6+5+4)

OR

C=100+0.75Yd

TA = 0.2Y
TR = 80
=396 - 161
G = 340
L=02 YQ.) i

(a) Determine equilibrium incqn@nd the rate of interest

)

(b) Calculate the Fiscal Poli@Multiplier and the Monetary Policy Multiplier

é

(¢) [fequilibrium incom@has to be increased by 180, determine :

(i) The required increase in Govt. expenditure

(i) The required increase in real money supply.

@ anfoeen & R wew B

Consumption

Taxes

[nvestment

Government Expenditure

Demand for Money

(6+5+4)

C =200+ 0.75Yd

TA = 200
[ =200 —25i
G =200

L=05Y -501
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Nominal Money Supply : M =900
Price Level : P=3

(3r) srfeyaear ¥ Wvg 3@ UE AW A AR |

(@) afe G %150 % gfe ot ot 2 A Fe o Pk A

(i) awvg s & aRedT

(i) 1S =% ¥ foae
(@) R wWEA om A e A aa- T R AN o F N D o D " ¥

feran aRad= 8k

_ t2rdr

frd sriogaen & fog wew 2 - QO
| N
Consumption : C\ 00 + 0.75 Yd
Taxes :%’Q}?= 0.2Y
Transfer Payments c‘Z}‘TR = 80
N

Investment T 1=396 - 161
Government Expenditure‘é : G =340
Demand for Money é : L=02Y-8i
Nominal Money Supply : M =400
Price Level . P=2

(a1) @ 37 v = 9 o fRuier i
(@) woEE R v Aife W H e SR )

(@) af awa am A 180 9 e smEvEw 2 A e @ Rufor D -
(i) =t =a % smawas gfe
(i) refas Hqer ot A ¥ gfg
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SECTION - C (@us )

4. (a) Explain the determinants of Natural Rate of Unemployment. (7)
(b) What are the causes of “Wait Unemployment” ? (8)
OR

(a) Explain the effects of monetary expansion in :
(i) The Short Run
(iiy The Long Run (10)

(b) What does the “Neutrality of Money” mean ? (5)
(31) AR it W & (Natural rate ofunemplcglent) T RS FIY
(@) “weiteaE " SASAR ( Wait unemployment %ﬂ FROE ?

gorm "
'\17
(1) Ao Fww D v @t e @ A aren AW -
(i) seumTer § Qo&
EreieRrel A &\&
(ii) A
(¥) ET W FEEIA ¥ T g7

5. (a) Determine the equilibrium real interest rate and real exchange rate in a large
open economy. (7)

(b) Discuss the effectiveness of fiscal policy in a small open economy under
flexible exchange rate. (8)

OR

(@) How does the large open economy differ from a small open economy ?7 (S5)

(b) What are the effects of expansionary fiscal and monetary policies on exchange

rate and net exports in a large open economy. (10)
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